PROJECT: Puainako Street Improvements

Kilauea Avenue to Kanoelehua Avenue

PROJECT NO.: 2000E-01-00

Net Length of Project: 0.65 Mile

ISLAND: Hawaii

DISTRICT: South Hilo

DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000

BIDS OPENED: June 30, 2000

COMPLETION TIME: One Hundred Eighty (180) Working Days

METCALF CONSTRUCTION	ISEMOTO CONTRACTING	JAS. W. GLOVER, LT
COMPANY, INC.	CO., LTD.	

STATE OF HAWAII TD. **DEPARTMENT OF TRANSPORTATION** HIGHWAYS DIVISION

ITEM NO. ITEM QUANTITY UNIT USED **UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT** Removal of Curb (1,920 L.F.) L.S. 202.0100 L.S. L.S. \$2,000.00 L.S. \$27,000.00 L.S. \$39,370.00 L.S. \$23,000.00 202.0105 Removal of Curb and Gutter (237 L.F.) L.S. L.S. L.S. \$1,000.00 \$4,300.00 L.S. L.S. \$7,435.00 L.S. \$6,500.00 202.0110 Removal of Culvert Headwall (1 EA.) L.S. L.S. L.S. \$500.00 \$900.00 L.S. L.S. \$795.00 L.S. \$2,000.00 202.0130 Removal of Concrete Sidewalk (2,915 S.F.) L.S. L.S. L.S. \$3,000.00 L.S. \$17,900.00 L.S. \$6,997.00 L.S. \$30,000.00 202.0160 Removal of Inlet Boxes (6 EA.) L.S. L.S. L.S. \$3,000.00 L.S. \$8,400.00 L.S. \$8,005.00 L.S. \$35,000.00 203.0100 Roadway Excavation 1,342 C.Y. \$30.00 \$40,260.00 \$33.00 \$44,286.00 \$106.00 \$142,252,00 \$30.00 \$40,260.00 206.1000 Structure Excavation for Drainage Structures 117 C.Y. \$100.00 \$11,700.00 \$120.00 \$14,040.00 \$325.00 \$38,025.00 \$60.00 \$7,020.00 208.1000 Leveling Surfaces F.A. F.A. \$16,200.00 \$16,200.00 F.A. F.A. F.A. \$16,200.00 F.A. \$16,200.00 209.1000 **Erosion Control** F.A. F.A. F.A. \$20,000.00 F.A. \$20,000.00 F.A. \$20,000.00 F.A. \$20,000.00 304.0100 Aggregate Base 60 C.Y. \$100.00 \$157.00 \$9,420.00 \$140.00 \$50.00 \$3,000.00 \$6,000.00 \$8,400.00 306,0100 Untreated Permeable Base Course 529 C.Y. \$75.00 \$39,675.00 \$85.00 \$44,965.00 \$85.00 \$44,965.00 \$65.00 \$34,385.00 312.0100 Plant Mix Glassphalt Concrete Base Course 838 TONS · \$70.00 \$66.00 \$58,660.00 \$77.00 \$64,526.00 \$55,308.00 \$67.00 \$56,146.00 401.0400 Asphalt Concrete Pavement, Mix No. IV 984 TONS \$80.00 \$78,720.00 \$89.00 \$87,576.00 \$84.00 \$82,656.00 \$68.00 \$66,912.00 401.0500 Asphalt Concrete Pavement, Mix No. V 140 TONS \$135.00 \$18,900.00 \$153.00 \$21,420.00 \$130.00 \$18,200.00 \$69.00 \$9,660.00 503.0100 Concrete for Culvert Headwall (Class A) L.F. \$3,840.00 \$1,080.00 \$4,000.00 \$500.00 \$2,000.00 \$960.00 \$4,320.00 \$1,000.00 603.1048 24-Inch Reinforced Concrete Pipe, Class IV 32 L.F. \$493.00 \$8,000.00 \$100.00 \$3,200.00 \$9,216.00 \$15,776.00 \$250.00 \$288.00 603.1049 36-Inch Reinforced Concrete Pipe, Class IV 5 L.F. \$200.00 \$2,575.00 \$1,313.00 \$6,565.00 \$300.00 \$1,500.00 \$1,000.00 \$515.00 Sheet No. 1 of 7 Sheets

PROJECT: Puainako Street Improvements

Kilauea Avenue to Kanoelehua Avenue

PROJECT NO.: 2000E-01-00

Net Length of Project: 0.65 Mile

ISLAND: Hawaii

DISTRICT: South Hilo

DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000

BIDS OPENED: June 30, 2000

COMPLETION TIME: One Hundred Eighty (180) Working Days

· ·		
METCALF CONSTRUCTION	ISEMOTO CONTRACTING	JAS. W. GLOVER, LTD.
COMPANY INC.	Г со ттр	

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

COIVII LL 110	N Time. One Hundred Eighty (100) Working Days										
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
604.4300	Type 61614B Grated Drop Inlet, 4 feet to 6 feet	1	EA.	\$7,500.00	\$7,500.00	\$13,670.00	\$13,670.00	\$6,674.00	\$6,674.00	\$4,000.00	\$4,000.00
604.5100	Type "A" SDMH, 4 feet to 6 feet	3	EA.	\$6,500.00	\$19,500.00	\$13,530.00	\$40,590.00	\$4,317.00	\$12,951.00	\$4,500.00	\$13,500.00
604.5110	Type 1 Grated Drop Inlet, 4 feet to 6 feet	2	EA.	\$7,500.00	\$15,000.00	\$15,925.00	\$31,850.00	\$7,283.00	\$14,566.00	\$10,000.00	\$20,000.00
604.5120	Type 1 Grated Drop Inlet, 8 feet to 10 feet	1	EA.	\$10,000.00	\$10,000.00	\$19,175.00	\$19,175.00	\$11,163.00	\$11,163.00	\$12,000.00	\$12,000.00
604.5130	Type 2 Grated Drop Inlet, 4 feet to 6 feet	2	EA.	\$8,500.00	\$17,000.00	\$15,450.00	\$30,900.00	\$6,851.00	\$13,702.00	\$10,000.00	\$20,000.00
604.5140	Adjusting Water Valve Frame and Cover	8	EA.	\$350.00	\$2,800.00	\$533.00	\$4,264.00	\$733.00	\$5,864.00	\$1,000.00	\$8,000.00
606.3000	Guardrail, Type 3 - Single with Steel Post	110	L.F.	\$40.00	\$4,400.00	\$52.00	\$5,720.00	\$35.00	\$3,850.00	\$105.00	\$11,550.00
606.3100	Modified Type G End Treatment	2	EA.	\$1,050.00	\$2,100.00	\$1,090.00	\$2,180.00	\$1,052.00	\$2,104.00	\$3,300.00	\$6,600.00
608.1200	4-Inch Reinforced Concrete Sidewalk	260	S.Y.	\$66.00	\$17,160.00	\$119.00	\$30,940.00	\$78.00	\$20,280.00	\$60.00	\$15,600.00
609.2710	Curb, Type 2D	1,036	L.F.	\$21.50	\$22,274.00	\$81.50	\$84,434.00	\$53.00	\$54,908.00	\$45.00	\$46,620.00
609.2720	Curb and Gutter, Type 2DG	216	L.F.	\$ 53.00	\$11,448.00	\$86.00	\$18,576.00	\$85.00	\$18,360.00	\$65.00	\$14,040.00
609.2730	Curb and Gutter, Type A	460	L.F.	\$51.00	\$23,460.00	\$126.00	\$57,960.00	\$141.00	\$64,860.00	\$90.00	\$41,400.00
612.1000	Grouted Rubble Paving	45	C.Y.	\$500.00	\$22,500.00	\$676.00	\$30,420.00	\$389.00	\$17,505.00	\$300.00	\$13,500.00
617.1000	Imported Planting Soil	200	C.Y.	\$ 50.00	\$10,000.00	\$110.00	\$22,000.00	\$93.00	\$18,600.00	\$60.00	\$12,000.00
621.5100	Regulatory and Warning Sign (10 Square Feet or Less) with Post	16	EA.	\$250.00	\$4,000.00	\$270.00	\$4,320.00	\$260.00	\$4,160.00	\$500.00	\$8,000.00
621.5110	Regulatory and Warning Sign (Over 10 Square Feet) with Post	5	EA.	\$400.00	\$2,000.00	\$430.00	\$2,150.00	\$415.00	\$2,075.00	\$1,900.00	\$9,500.00
	·	<u> </u>	L			L				Sheet No.	2 of 7 Sheets

Sheet No. 2 of 7 Sheets

PROJECT: Puainako Street Improvements

Kilauea Avenue to Kanoelehua Avenue

PROJECT NO.: 2000E-01-00

Net Length of Project: 0.65 Mile

ISLAND: Hawaii

DISTRICT: South Hilo

DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000

BIDS OPENED: June 30, 2000

COMPLETION TIME: One Hundred Eighty (180) Working Days

		ļ
METCALF CONSTRUCTION	I ISEMOTO CONTRACTING	JAS. W. GLOVER, LTD.
COMPANY, INC.	CO., LTD.	

STATE OF HAWAII
DEPARTMENT OF
TRANSPORTATION
HIGHWAYS DIVISION

COMPLETIO	N TIME: One Hundred Eighty (180) Working Days						· .				
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT						
621.5120	Street Name Sign on Traffic Signal Mast Arm	4	EA.	\$700.00	\$2,800.00	\$744.00	\$2,976.00	\$720.00	\$2,880.00	\$500.00	\$2,000.00
621.5130	Construction Signs with Post	20	EA.	\$350.00	\$7,000.00	\$366.00	\$7,320.00	\$503.00	\$10,060.00	\$800.00	\$16,000.00
621.5140	Mile Post Marker with Post (Bi-Directional)	1	EA.	\$150.00	\$150.00	\$154.00	\$154.00	\$150.00	\$150.00	\$600.00	\$600.00
621.5150	State Route Marker with Post	4	EA.	\$250.00	\$1,000.00	\$240.00	\$960.00	\$233.00	\$932.00	\$1,600.00	\$6,400.00
622.0015	Highway Lighting System, 180 Watt LPS Luminaires on Traffic Signal Standard	4	EA.	\$1,100.00	\$4,400.00	\$1,230.00	\$4,920.00	\$1,193.00	\$4,772.00	\$800.00	\$3,200.00
622.0016	Highway Lighting System, Multiple Circuit	900	L.F.	\$4.00	\$3,600.00	\$3.50	\$3,150.00	\$3.00	\$2,700.00	\$4.25	\$3,825.00
622.0052	Highway Lighting Standard, Single Bracket Luminaires and Foundation (180 Watt LPS)	6	EA.	\$4,000.00	\$24,000.00	\$3,560.00	\$21,360.00	\$3,445.00	\$20,670.00	\$3,600.00	\$21,600.00
622.0070	Highway Lighting Mast Arm, Luminaire, on Joint Pole (180 Watt LPS)	1	EA.	\$1,200.00	\$1,200.00	\$1,320.00	\$1,320.00	\$1,280.00	\$1,280.00	\$1,500.00	\$1,500.00
622.5050	Conduit, Handholes and Cable for Highway Lighting System, Including Trenching, Backfill, and Concrete Encased Conduit (600 L.F.)	L.S.	L.S.	L.S.	\$30,000.00	L.S.	\$24,200.00	L.S.	\$23,420.00	L.S.	\$18,750.00
623.0300	Remove/Salvage/Demolish Existing Traffic Signal System Hardware, Components, Accessories, Handholes, Conduits, Wiring, Loop Detectors, All as Indicated and Provide New Temporary Traffic Signal System as	L.S.	L.S.	L.S.	\$25,000.00	L.S.	\$7,215.00	L.S.	\$6,984.00	L.S.	\$90,000.00
la de la companya de	Required										
623.2000	Controller Assembly (Model 170E Controller Unit, Model 332A Cabinet and Auxiliary Equipment	1	EA.	\$25,000.00	\$25,000.00	\$23,500.00	\$23,500.00	\$23,851.00	\$23,851.00	\$33,000.00	\$33,000.00
623.2002	Opticom Pre-Emption with Mast Arm Mounting	4	EA.	\$800.00	\$3,200.00	\$830.00	\$3,320.00	\$802.00	\$3,208.00	\$3,300.00	\$13,200.00
				1						Sheet No.	2 of 7 s

Sheet No. 3 of 7 Sheets

PROJECT: Puainako Street Improvements

Kilauea Avenue to Kanoelehua Avenue

PROJECT NO.: 2000E-01-00

Net Length of Project: 0.65 Mile

ISLAND: Hawaii

DISTRICT: South Hilo

DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000

BIDS OPENED: June 30, 2000

COMPLETION TIME: One Hundred Eighty (180) Working Days

METCALF CONSTRUCTION COMPANY, INC.

ISEMOTO CONTRACTING CO., LTD.

JAS. W. GLOVER, LTD.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

TEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.2003	Video Detector with Mast Arm Mounting	4	EA.	\$6,500.00	\$26,000.00	\$7,050.00	\$28,200.00	\$6,822.00	\$27,288.00	\$2,700.00	\$10,800.0
623.2006	Uninterruptible Power Supply Cabinet, Uninterruptible Power Supply and Accessories	1	EA.	\$20,000.00	\$20,000.00	\$23,450.00	\$23,450.00	\$22,692.00	\$22,692.00	\$24,000.00	\$24,000.0
623.2010	Type I Signal Standard	3.	EA.	\$700.00	\$2,100.00	\$625.00	\$1,875.00	\$609.00	\$1,827.00	\$800.00	\$2,400.0
623.2023	Type III Signal Standard with 30-Feet Mast Arm	1	EA.	\$5,000.00	\$5,000.00	\$4,800.00	\$4,800.00	\$4,648.00	\$4,648.00	\$5,400.00	\$5,400.00
623.2025	Type III Signal Standard with 40-Feet Mast Arm	3	EA.	\$5,000.00	\$15,000.00	\$5,670.00	\$17,010.00	\$5,486.00	\$16,458.00	\$7,100.00	\$21,300.00
623.2030	Foundation, Type I Standard	3	EA.	\$700.00	\$2,100.00	\$800.00	\$2,400.00	\$775.00	\$2,325.00	\$800.00	\$2,400.00
623.2041	Foundation, Type III Standard	4	EA.	\$2,000.00	\$8,000.00	\$2,400.00	\$9,600.00	\$2,326.00	\$9,304.00	\$4,900.00	\$19,600.00
623.2050	Foundation, Controller and UPS Cabinet, Support for Service/Metering Equipment	1	EA.	\$6,000.00	\$6,000.00	\$4,890.00	\$4,890.00	\$4,727.00	\$4,727.00	\$2,900.00	\$2,900.00
623.2060	Foundation, Pedestrian Pushbutton Pedestal	7	EA.	\$400.00	\$2,800.00	\$785.00	\$5,495.00	\$775.00	\$5,425.00	\$550.00	\$3,850.00
623.3039	Traffic Signal Assembly, 1-Way, 12 Inch, LED, 1-3 Section Vertical, Type VI Mount	11	EA.	\$1,300.00	\$14,300.00	\$1,260.00	\$13,860.00	\$1,217.00	\$13,387.00	\$2,900.00	\$31,900.00
623.3040	Traffic Signal Assembly, 2-Way, 12 Inch, LED, 2-3 Section Vertical, Type II Mount	3	EA.	\$1,100.00	\$3,300.00	\$1,355.00	\$4,065.00	\$1, 310.00	\$3,930.00	\$5,800.00	\$17,400.00
623.3042	Traffic Signal Assembly, 1-Way, 12 Inch, LED, 1-3 Section Vertical, Type V Mount	4	EA.	\$1,000.00	\$4,000.00	\$945.00	\$3,780.00	\$914.00	\$3,656.00	\$3,000.00	\$12,000.00
623.3043	Traffic Signal Assembly, 1-Way, 12 Inch, LED w/1 Sec. Fib Op, 1-4 Section, Type VI Mount	3	EA.	\$1,700.00	\$5,100.00	\$1,710.00	\$5,130.00	\$1,654.00	\$4,962.00	\$4,400.00	\$13,200.0
623.4001	Pedestrian Signal Assembly, Clamshell Mount	6	EA.	\$1,000.00	\$6,000.00	\$836.00	\$5,016.00	\$906.00	\$5,436.00	\$1,300.00	\$7,800.0

PROJECT: Puainako Street Improvements Kilauea Avenue to Kanoelehua Avenue PROJECT NO.: 2000E-01-00 Net Length of Project: 0.65 Mile STATE OF HAWAII ISLAND: Hawaii DISTRICT: South Hilo METCALF CONSTRUCTION ISEMOTO CONTRACTING JAS, W. GLOVER, LTD. **DEPARTMENT OF** COMPANY, INC. CO., LTD. TRANSPORTATION DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000 HIGHWAYS DIVISION BIDS OPENED: June 30, 2000 COMPLETION TIME: One Hundred Eighty (180) Working Days ITEM NO. ITEM QUANTITY UNIT USED **UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT** 623.4011 Pedestrian Pushbutton Assembly with Sign and Pedestal EA. \$500.00 \$3,500.00 \$465.00 \$3,255.00 \$450.00 \$3,150.00 \$600.00 \$4,200.00 623.5001 Traffic Signal/Street Lights/Ductline System (1150 L.F.) L.S. L.S. L.S. \$36,000.00 L.S. \$143,400.00 L.S. \$138,767.00 L.S. \$69,000.00 623.5002 Traffic Signal Feeder Ductline System (Handholes to L.S. L.S. L.S. \$6,600.00 L.S. \$18,650.00 L.S. \$40,201.00 L.S. \$20,400.00 Standards/Detectors) (680 L.F.) Pullbox (Handhole), Type B 623.6002 EA. \$1,100.00 \$8,800.00 \$1,380.00 \$11,040.00 \$1,338.00 \$10,704.00 \$600.00 \$4,800.00 623.6003 Pullbox (Handhole), Type C EA. \$1,100.00 \$5,500.00 \$1,785.00 \$8,925.00 \$1,726.00 \$8,630,00 \$900.00 \$4,500.00 623.7000 Multi-Conductor Main Control Cable (No. 14, AWG 2-26 L.S. L.S. L.S. \$5,000.00 L.S. \$7,130.00 L.S. \$6,900.00 L.S. \$8,640.00 Cond) (540 L.F.) 623.7002 No.14 AWG, 4 Conductor Color Coded Feeder Control L.S. L.S. L.S. \$3,000.00 L.S. \$3,090.00 L.S. \$2,987.00 L.S. \$14,000.00 Cable (2800 L.F.) 623,7003 Loop Detector Lead in Cable (3800 L.F.) L.S. L.S. L.S. \$12,000.00 L.Ş. \$5,820.00 L.S. \$5,636.00 L.S. \$3,800.00 623.7004 Pedestrian Pushbutton Lead in Cable (900 L.F.) L.S. L.S. L.S. \$3,000.00 L.S. \$1,720.00 L.S. \$1,666.00 L.S. \$900.00 623.7110 Loop Detector, 6-feet X 60-feet 5 EA. \$1,800.00 \$9,000.00 \$1,430.00 \$7,150.00 \$1,384.00 \$6,920.00 \$16,000.00 \$3,200.00 623.7115 Loop Detector, 6-feet X 6-feet 7 EA. \$700.00 \$4,900.00 \$650.00 \$4,550.00 \$626.00 \$4,382.00 \$1,200.00 \$8,400.00 623.7140 Loop Detector, 6-feet X 40-feet 18 EA. \$1,500.00 \$27,000.00 \$1,145.00 \$20,610.00 \$1,107.00 \$19,926.00 \$2,600.00 \$46,800.00 623.9002 Service/Metering Equipment and Apparatus, Service L.S. L.S. L.S. \$3,000.00 L.S. \$4,445.00 L.S. \$4,302.00 L.S. \$8,000.00 Ductlines 623.9004 Testing, Start-up Services by County of Hawaii F.A. F.A. F.A. \$15,000.00 F.A. \$15,000.00 F.A. \$15,000.00 F.A. \$15,000.00 623.9005 **HELCO Underground Service Charges** F.A. F.A. F.A. \$10,000.00 F.A. \$10,000.00 F.A. \$10,000.00 F.A. \$10,000.00

Sheet No. 5 of 7 Sheets

PROJECT: Puainako Street Improvements

Kilauea Avenue to Kanoelehua Avenue

PROJECT NO.: 2000E-01-00

Net Length of Project: 0.65 Mile

ISLAND: Hawaii

DISTRICT: South Hilo

DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000

BIDS OPENED: June 30, 2000

COMPLETION TIME: One Hundred Eighty (180) Working Days

METCALF CONSTRUCTION	ISEMOTO CONTRACTING	JAS. W. GLO
COMPANY , INC.	CO., LTD.	

OVER, LTD.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

			1				·	****			
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT						
623.9006	Joint Pole Shares	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
629.1010	4-Inch Pavement Striping (Thermoplastic Extrusion)	9,686	L.F.	\$1.10	\$10,654.60	\$1.10	\$10,654.60	\$1.00	\$9,686.00	\$2.00	\$19,372.00
629.1016	8-Inch Pavement Striping (Thermoplastic Extrusion)	3,206	L.F.	\$1.35	\$4,328.10	\$1.45	\$4,648.70	\$1.00	\$3,206.00	\$4.00	\$12,824.00
629.1020	Crosswalk Marking (Thermoplastic Extrusion)	19	LANE	\$175.00	\$3,325.00	\$190.00	\$3,610.00	\$183.00	\$3,477.00	\$1,850.00	\$35,150.00
629.1025	12-Inch Wide Stop Bars (Thermoplastic Extrusion)	778	L.F.	\$2.50	\$1,945.00	\$2.40	\$1,867.20	\$2.00	\$1,556.00	\$26.00	\$20,228.00
629.1030	Pavement Arrow (Thermoplastic Extrusion)	45	EA.	\$130.00	\$5,850.00	\$143.00	\$6,435.00	\$138.00	\$6,210.00	\$1,000.00	\$45,000.00
629.1035	Pavement Word (Thermoplastic Extrusion)	21	EA.	\$400.00	\$8,400.00	\$445.00	\$9,345.00	\$431.00	\$9,051.00	\$1,400.00	\$29,400.00
629.1040	Pavement Symbol (Thermoplastic Extrusion)	6	EA	\$400.00	\$2,400.00	\$445.00	\$2,670.00	\$431.00	\$2,586.00	\$1,100.00	\$6,600.00
629.2020	Type A Pavement Marker	368	EA.	\$6.00	\$2,208.00	\$6.35	\$2,336.80	\$6.00	\$2,208.00	\$7.00	\$2,576.00
629.2030	Type C Pavement Marker	341	EA.	\$6.00	\$2,046.00	\$6.24	\$2,127.84	\$6.00	\$2,046.00	\$7.00	\$2,387.00
629.2040	Type D Pavement Marker	20	EA.	\$6.00	\$120.00	\$6.00	\$120.00	\$6.00	\$120.00	\$7.00	\$140.00
629.2050	Type H Pavement Marker	85	EA.	\$6.00	\$510.00	\$5.76	\$489.60	\$6.00	\$510.00	\$7.00	\$595.00
629.2060	Curb Markings (Paint) (1,036 L.F.)	L.S.	L.S.	L.S.	\$3,000.00	L.S.	\$2,916.00	L.S.	\$2,822.00	L.S.	\$5,700.00
638.1000	Cellular Phone (Not to Exceed \$900.00)	L.S.	L.S.	L.S.	\$900.00	L.S.	\$900.00	L.S.	* \$900.00	L.S.	\$900.00
645.1000	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$175,000.00	F.A.	\$175,000.00	F.A.	\$175,000.00	F.A.	\$175,000.00
650.1000	Curb Ramps, Type A	2	EA.	\$2,000.00	\$4,000.00	\$2,340.00	\$4,680.00	\$3,484.00	\$6,968.00	\$3,000.00	\$6,000.00
<u> </u>			<u> </u>							Sheet No.	6 of 7 Sheets

PROJECT: Puainako Street Improvements

Kilauea Avenue to Kanoelehua Avenue

PROJECT NO.: 2000E-01-00

Net Length of Project: 0.65 Mile

ISLAND: Hawaii

DISTRICT: South Hilo

DATE ADVERTISED: Honolulu Star-Bulletin and Hawaii Tribune Herald - June 9, 2000

METCALF CONSTRUCTION COMPANY, INC.

ISEMOTO CONTRACTING CO., LTD.

JAS. W. GLOVER, LTD.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

BIDS OPENED: June 30, 2000

COMPLETION TIME: One Hundred Eighty (180) Working Days

	<u> </u>	· · · · · · · · · · · · · · · · · · ·	·								
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
650.1010	Curb Ramps, Type B Modified	1	EA.	\$2,000.00	\$2,000.00	\$1,755.00	\$1,755.00	\$8,792.00	\$8,792.00	\$3,000.00	\$3,000.00
650.1020	Curb Ramps, Type C	1	EA.	\$2,000.00	\$2,000.00	\$1,365.00	\$1,365.00	\$5,819.00	\$5,819.00	\$3,000.00	\$3,000.00
650.1030	Curb Ramps, Type C Modified	3	EA.	\$4,000.00	\$12,000.00	\$4,465.00	\$13,395.00	\$11,626.00	\$34,878.00	\$8,000.00	\$24,000.00
652.0100	Cold Planing	4,561	S.Y.	\$15.00	\$68,415.00	\$11.40	\$51,995.40	\$5.00	\$22,805.00	\$15.00	\$68,415.00
699.1000	Mobilization (Not to Exceed 10 Percent of Sum of All Items Excluding the Bid Price of This Item and Force Account Items)	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$43,144.86 	L.S.	\$64,517.00	L.S.	\$110,000.00
	SUM OF ALL ITEMS				\$1,265,408.70		* \$1,639,920.00		* \$1,666,191.00		\$1,819,645.00
	Preference (for Bid Evaluation)										
	A. Hawaii Products				\$0.00		\$0.00		\$0.00		\$0.00
	B. In-State Contractor				\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS				\$1,265,408.70		\$1,639,920.00	e i i e	\$1,666,191.00		\$1,819,645.00

^{*} Corrected Amount

Project Manager: Christine Yamasaki

Date: July 10, 2000